dirna @2 Bergstrom

biieool

I W -— .- w—w =
green line

COMPACT 3.0

(j\ Mercedes-Benz
AXOR (TR)

rev.01

218

Instrucciones de Montaje E Spanish
Mounting Instructions m English
Montaj Talimatlar Turkish
amnor | [ Ao
|| 1001217224

F-4

I Y A—— A




E COMPACT 3.0

Recomendaciones
Para el montaje

* Antes de iniciar el montaje leer las instrucciones vy
seguirlas durante el proceso de instalacion.

*Usar las herramientas adecuadas para cada
operacion.

Electricidad

* Desconectar la llave de contacto.
» Desconectar la bateria antes de empezar el montaje.

* Asegurar el conexionado de los componentes
eléctricos, verificando su correcto encaje.

A Atencion

Si durante el montaje el equipo se inclina 6 se abate
la cabina con el equipo montado, se debera esperar
un minimo de 60 minutos, desde que el quipo quede

horizontal, antes de ponerlo en marcha.

A Atencion

Al instalar el equipo de aire acondicionado en el techo
se debe proteger la parte superior de la cabina con un
pafno 6 manta protectora para evitar posibles arafazos.
Al instalar Compact en el techo hay que tener en cuenta
que, normalmente, las cabinas que vienen provistas de
escotilla, tienen una estructura suficiente para soportar
el peso del equipo. Sin embargo, cuando no ocurra asi y
sea necesario realizar corte en el techo 6 incluso si en el
caso de llevar escotilla el material no es lo suficientemente
resistente (caso de techo de fibra, plastico, etc...) es el
instalador el que debe decidir, bajo su responsabilidad,
sobre la necesidad de reforzar el techo para evitar
posibles deformaciones, roturas, entradas de agua, etc...

habilitando los medios para que esto no ocurra.

dirna €3 Bergstrom

Herramientas

Documentacion incluida

Instrucciones de montaje 1001217224
Manual del usuario 1001218019
Diagnosis de averias 1001218025
Listado de recambios 220RE00172
Garantia 220AA10017
Simbologia

A Fragil

Atencion corte!

A Riesgo eléctrico

A Advertencias

& El personal instalador debe poseer una formacion
suficiente en Aire Acondicionado de vehiculos.

Adirna Bergstrom, s.l. queda exenta de
responsabilidad sise producen averias que procedan
de una inadecuada manipulacion ¢ instalaciéon
del equipo, o por modificaciones y sustituciones
efectuadas sin nuestra expresa autorizacion por
escrito.

&Equipo precargado con gas refrigerante. (No
manipular el circuito de gas refrigerante).

AVéase procedimiento de garantia del producto
incluido en Diagnosis de Averias.

& Véase Manual de Usuario del equipo para el correcto
funcionamiento del mando a distancia y del panel de
control.

A Al finalizar la instalaciéon se debe entregar al usuario:
Manual del Usuario, Garantia y Diagnosis de
averias.




COMPACT 3.0 dirna & Bergstrom 5

ﬁ Antes de empezar con el montaje, montar
rejilla entrada aire delantera.

1 En caso de llevar spoiler presentar plantilla y
cortar.

525

2 Desmontar tapa escotillas los elementos de
fijacion y entregar éstos al cliente.




B comPacT 3.0 dirna €3 Bergstrom

3 Quitar los residuos sobrantes adheridos al
techo antes de pegar la junta EPDM.

4 Pegar junta EPDM alrededor del hueco de
escotilla (mirar el detalle para cortar los bordes
finales de unién de la junta).

i”f COMO CORTAR LA JUNTA EPDM PARA
EVITAR FILTRACION DE AGUA EN LA CABINA

A- Pegar la junta, manteniendo 100 mm de
papel protector por cada lado.

B- Quitar los dos piezas de papel.

C- Pegue presionado ambos finales.

Junta

N

—»
100 mm Aprox. (papel protector)

Techo cabina

Junta \ n/ Junta Junta Junta

¥ ¥ AN
Eliminar ‘ N

v | &
A




COMPACT 3.0 dirna & Bergstrom 5

A, et
LS

5 | EXTERIOR CABINA: @

Posicionar el Compact en el hueco de la
escaotilla.

Escotilla

A jAtencion! Al colocar el equipo en
el hueco escotilla, verificar que

las salidas de desagiie no esten

obstruidas por la junta EPDM.

6 Colocar canalizador gomaespuma quedando
la parte mas blanda en la base del equipo.

Atencion: Dependiendo de la cabina, es
posible que sea necesario usar los (2)
canalizadores suministrados para que el
panel de distribucion de aire quede totalmente
ajustado con ellos.

7 INTERIOR CABINA: @ -
Roscar 10 mm aproximadamente (4) % 10 mm
esparragos 8/125x70 con arandela goma,
arandela plana, tuerca y apretar. Arandela —

goma
Arandela/ |:

] Tuerca M8

plana @ 8
Esparrago 8/125x70 @ ala ancha \

T

Tuerca M8 Arandela Arandela
plana & 8 goma
ala ancha




B comPacT 3.0 dirna €3 Bergstrom

8 Colocar soporte fijacion colocando (2)
arandelas planas entre éste y colocar tuerca
autoblocante, sin llegar a apretar.

Arandela /
plana @ 8

ala ancha \(

L AN
WV —

[] | |
Tuerca / \ Tuerca

autoblocante autoblocante

plana @ 8
ala ancha

\ Arandela
/
X

9 Roscar 10 mm (4) esparragos M6 x 80, donde
se indica con arandela goma, arandela plana
ala ancha, tuerca M6 y apretar.

Arandela
goma

Arandela
ala ancha




COMPACT 3.0 dirna & Bergstrom 5

10 Colocar (1) tuerca M6 sin apretar en cada
esparrago.

1 1 Entre la base y el panel interior de distribucién
de aire, conectar (2) cajas de dos vias de
sensor antihielo (cables blancos) y sensor aire
de retorno (cables negros), caja de 4 vias del
soplador, (2) cables de comunicacién y caja
de 8 vias de cableado a conexién con control
electronico.

cable de comunicacién
Cable de comunicacion

Soplador

sensor aire de retorno
Sensor antihielo

Caja de 8 vias




B compPacT 3.0 dirna @2 Bergstrom

1 2 Colocar el panel interior de distribucion de aire

en los esparragos anteriores con 1 tuerca M6,
1 arandela @ 6 ala ancha y fijar con hexagono
L=25y apretar.

Nota: El hexagono debe quedar 1 mm por
encima del tapizado.

Arandela de goma Base Compact

Juma - Commswma
EPDM Arandela
plana @ 6 T T

Tuerca M6
Techo cablna

Tapizado Esparrago M6

IS s
Panel interior de distribucion de aire
VAN
J

13 Apretar tuerca del punto 10 hasta hacer tope
con la parte superior del panel interior de
distribucion de aire.

N\

(7 )
@ Arandela de goma Base Compact
Junta o Comasspuma
EPDM ____Apretar tuerca
M ouo10) T 1
| I— e
Techo cabina Esparrago M6
Tapizado Hexagono
s R =
Panel interior de distribucién de aire
AN
- J

1 4 Presentar consolas y centrar el equipo. Una
vez centrado quitar consola.




COMPACT 3.0

L ] 5]

m B
% % ETapizado
| | ’i
? - / e —
Consola

Consola plana

Panel interior de

15 Fijar los soportes de sujecion apretando las
tuercas autoblocantes hasta hacer tope con la
tuerca superior.

¢ ~ Junta EPDM Arandela R
;goma
Arandela plana
]
Tuerca Mg = @ 8 ala ancha
/ A % Arandela plana
_E—-‘-/ @ 8 ala ancha
Techo cabina F
[ [ |
Arandela plana
Apretar @ 8 ala ancha
\\"I:l'JIerca autoblocante
- J

1 6 Colocar consola plana, a continuacion colocar
la otra consola y fijar con (4) tornillos allen
M6/100x15.

\

distribucion de aire
N J

Colocar la consola con (4) tornillos M6/100x15
17 allen.

dirna & Bergstrom 5




E COMPACT 3.0 dirna €3 Bergstrom

INSTRUCCIONES DETALLADAS
SOBRE LA INSTALACION DEL CABLEADO DE ALIMENTACION

1 Conectar cableado al equipo y llevarlo a la
parte trasera del camion por la parte izquierda.

2 Fijar cableado con soportes de plastico
adhesivos y bridas. Conectar cableado con
cableado bateria (A).

3 Llevar cableado a bateria por paso cableados
original y conectar cable azul (+) y cable
marron (-).

10




COMPACT 3.0 dirna & Bergstrom 5

INSTRUCCIONES DETALLADAS
SOBRE LA INSTALACION DEL CABLEADO DE ALIMENTACION

AL CONECTAR LOS CABLEADOS ,DEJAR LA DISTANCIA ADECUADA ,PARA EVITAR SU
ROTURA POR LOS MOVIMIENTOS DE LA CABINA.

IMPORTANTE: Debido al complejo sistema de regulacién electronica del equipo, la toma de
corriente debe realizarse directamente a la bateria del vehiculo.

IMPORTANTE: Para la puesta en marcha consultar el Manual del Usuario.

4 Colocar adhesivos de peligro en union de
cableado y en dispositivo de elevacion de
cabina.

11




B compPacT 3.0 dirna €3 Bergstrom

Esquema eléctrico

4 {AVISO IMPORTANTE! A

Precaucion de no invertir las polaridades al conectar la alimentacion en el equipo. Si esto sucediera

la placa no se encendera, el equipo no funcionaray se produciran dafios irreparables en los modulos
de los compresores.

- J
o=y o
Soplador =l OS] o Sensor
centrifugo N oy aire de retorno
N_S—

Na

— Ser_13.or
= 5 By antihielo

)—
f )/

N

Cable comunicacion g electronico
Az
R
N
Az [ Azul B |
N | Negro
. (‘\ f,
R [Roio 1 1
V Verde InINIAEN) M N
B Blanco
- azlrINl B n nN n\ In)
A | Amarillo 2 L
~J U~ - A N O B N -
Na [ Naranja .
) Ventilador
M [ Marron Rl N del condensador
R M N
— —=f®
¢ ||, R
AZ
R 8 L R R
N M I; g Az
O (i N\
M BAT+
|J BAT+ M BAT-
BAT- M — |l AUX_
AUX FAN
— FAN - AZ F—SOA)J -— FAN+
= [l FaN+ = I—M B — || Aux+
- [[AUX+ | T+
R T+ | Az - || 15V+
N — -1|-5V+ @ @ T-
[}
, IaYa)
Cl:| Bateria ~C‘:| _J

Médulo \W—

ulc — Modulo L
electronico electrénico
2° compresor

1° compresor

2 Compresor

1 Compresor

12




COMPACT 3.0 dirna & Bergstrom 5

13




E] compPacT 3.0 dirna €3 Bergstrom

Assembly
Recommendations

* Before starting assembly, please read instructions and

follow them during installation process.

» Use the adequate tools for each operation.

Electricity
Documentation included

* Disconnect ignition key.

Mounting instructions 1001217224
* Disconnect battery before Starting assemb|y. ........................................................................................................................... .
User’s guide 1001218019
. Make sure electrlc Components are Securely ConneCtEd, ........................................................................................................................... -
. . i Troubleshooting 1001218025
checking their correct fitting. s ,
Included parts 220RE00172
Warranty 220AA10017

Symbology

A Fragile
Beware of cuts!

A Electrical hazard

A Warnings

&The installing personnel must have a sufficient

A Warning

If the unit slants during assembly, wait for at least
60 minutes with the unit in horizontal position before
starting it up.

training in vehicles air conditioning.

A Warning

& dirna Bergstrom, s.l. shall not be responsible for

breakdowns or damages coming from an inadequate
When installing air conditioning equipment on roof, the handling or installation of the equipment or from
upper cabin part must be protected with a cloth or a
When

installing Compact on roof, take into account that,

modifications and substitutions carried out without

protective blanket to avoid possible scratches. . I
our express and written authorisation.

. . ) & Equipment pre-charged with refrigerating gas.
normally, cabins equipped with a hatch have a strong

. , . (Do not handle refrigerating gas circuit).
enough structure to hold equipment weight. However, if it

is not the case and it is necessary to carry out a cut in the & Please see product warranty procedure included in

roof or, although it has a hatch, the material is not resistant
enough (if roof is made of fibre, plastic, efc...), it is the
installer who will have to decide, under his responsibility,
if it is necessary to reinforce the roof to avoid possible
deformations, breaks, water entries, etc., habilitating the

means required to stop it from occurring.

14

Troubleshooting.

& Please see equipment User’s Guide for its correct
functioning of the remote control and control panel.

& Once installation is finished, the following documents
must be handed over to the user: User’s Guide,
Warranty and Troubleshooting.




COMPACT 3.0

A\

Mount the front air input grille before starting
assembly.

dirna & Bergstrom 2]

cut.

525

Take down the hatch cover and the attachment
elements, and hand them over to the customer.




m COMPACT 3.0

3 Remove any excess on the ceiling before
attaching the EPDM seal.

dirna €3 Bergstrom

4 Attach the EPDM seal around the hatch gap
(see the details to cut the ends of the seal

joint).

== S

HOW TO CUT EPDM GASKET TO AVOID
WATER FILTRATION INTO THE CABIN

A- Glue gasket, keeping 100 mm of protection
paper at each side.

B- Remove the two pieces of paper.

C- Glue by pressing both ends.

Gasket

N

>
100 mm Approx. (protection paper)

Cabin roof

\
Gasket /

¥y ¥
Remove

Gasket

Gasket

/
v | &
-~

|
VN

16



COMPACT 3.0 dirna & Bergstrom 2]

5 CABIN EXTERIOR:
Position the Compact in the hatch gap.

A Caution! When positioning the
unit above the hatch gap, check

that the wastewater run-offs are

not blocked by the EPDM seal.

6 Position the foam rubber, ensuring the softest
part is placed on the base of the unit.

Caution: Depending on the cabin, it may be
necessary to use the (2) supplied ducts in
order for the distribution panel to be completely

adjusted.
7 CABIN INTERIOR: @ I
Screw on (4) 8/125x70 studs approximately % 10 mm
10 mm with rubber washer, flat washer and
nut, and tighten. Rubber —
washer

@8 Flat |:
wide-rimmed
8/125x70 Stud washer

| M8 Nut

TN

M8 Nut @8 Flat Rubber
wide-rimmed washer
washer

17




m COMPACT 3.0

8

Position the attachment support by inserting
(2) flat washers and position a self-locking nut,
without tightening completely.

dirna €3 Bergstrom

[

@8 Flat

washer

wide-rimmed

\

\ @8 Flat

wide-rimmed

X washer

~

/ ]

nut

Self-locking /

V!

X

\ Self-locking

nut

Screw (4) M6x80 studs 10 mm as indicated
with rubber washer, flat wide-rimmed rubber
washer and M6 nut, and tighten.

Rubber
washer

Wide-rimmed
washer




COMPACT 3.0 dirna & Bergstrom 2]

10 Position (1) M6 nut without tightening on
each stud.

11 Between the base and the interior air

distribution panel, connect (2) two-way boxes
of the anti-freeze sensor (white cables) and
the return air sensor (black cables), 4-way box
of the blower, (2) communication cables and
8-way box of the electronic control connection
cables.

communication cable
communication cable

Blower

return air sensor
Anti-freeze sensor

8-way box

19




E] compPacT 3.0 dirna @2 Bergstrom

Position the interior air distribution panel on the
front studs with 1 M6 nut, 1 @6 wide-rimmed
washer and secure with L=25 hexagon and
tighten.

12

Note: The hexagon must be 1 mm above
the upholstery.

\
Rubber washer Compact Base

EPDM - Feam
seal 76 Flat

— washer

M6 Nut
Cabin roof
Upholstery M6 stud

I s

1T mm

4\\Vlnterior air distributig
7\
J

Tighten the nut in point 10 until it comes up
against the top part of the interior air distribution

-

13

panel.
[
@ Rubber washer Compact Base
EPDM =
seal ___ Tighten the nut
= (point 10)
|
Cabin roof M6 stud
Upholstery Hexagon
IS s
Interior air distribution panel
A\

14

Position the consoles and align the unit. Once
aligned, remove the console.

20




COMPACT 3.0 dirna & Bergstrom 2]

1 5 Secure the attachment support pieces by
tightening the self-locking nuts until they come
up against the upper nut.

( ~ EPDM seal Rubber ) T
;washer
BN @8 Flat wide-rimmed
M8 Nut washer

/ A @8 Flat wide-rimmed
K

ﬁ_/—\_—‘ =K washer

Cabin roof F 1

|
@8 Flat wide-rimmed
washer

Tighten

\_ Self-locking nut .

1 6 Position the flat console, then position the
other console and secure with (4) M6/100x15
Allen screws.

Upholstery

Console \7/ Flat Console

Interior air distribution

panel y

1 7 Cover the (4) M6/100x15 Allen screws with the
M6 round plastic decorative pieces.

21




m COMPACT 3.0 dirna €3 Bergstrom

DETAILED INSTRUCTIONS
ON INSTALLATING POWER CABLES

1 Connect the cabling to the unit and run to the
left to the back part of the truck.

2 Secure the cabling with adhesive plastic
support pieces and flanges. Connect the
cabling to the battery cabling (A).

3 Take the battery cabling through the original
cabling run and connect the blue wire (+) and
brown wire (-).

22




COMPACT 3.0 dirna & Bergstrom 2]

DETAILED INSTRUCTIONS
ON INSTALLATING POWER CABLES

WHEN CONNECTING THE CABLES, LEAVE SUITABLE DISTANCE IN ORDER TO PREVENT
BREAKAGE WHEN THE CABIN MOVES.

IMPORTANT: Due to the unit’s complex electronic regulation system, the power connection
must be made directly to the vehicle’s battery.

IMPORTANT: Check the User Manual before starting up.

Place danger stickers at the cable joint and
4 = .
cabin lifting device.

23




m COMPACT 3.0

dirna €3 Bergstrom

Electric wiring

IMPORTANT NOTE!

Take care not to invert polarities when connecting the unit to the power supply. If this were to
happen, the unit will not work and irreparable damage will be caused to the compressor modules.

Centrifugal
blower

Na

L=

N

wiring communication

O o Return
Ny air sensor
1 —
> N

o Anti-freeze

= B By sensor

B B )/ 1 —>
A Electronic
] control

Az

R
N
Az | Blue B |
N | Black
<(.‘ h/{’
R [Red Gl Al
V | Green LAAL A Rl ™ Rl N
B | White
alrInl B n n\ n\ In)
A | Yellow z L
Y Y [Na Orange
M | Brown Rl N Condenser fan
R M N
) —<f®
0| —
Az
R kL R R
N M I:(
) rd Az (i N\
M BAT+
|J BAT+ M BAT-
BAT- M - || AUX
FAN~
— ﬁxl)\l( - Az F—SOA)J f— FAN+
= [ FaN+ = I—M B || AUx
— || AUX+ | T+
R T . - 15v+
N = [l 15V+ ) ©) T
T-
—I[I]I-
NN
1] Battery U I
Compres§or S Compressor L
electronic electronic
module module
2 Compressor 1 Compressor

24




COMPACT 3.0 dirna & Bergstrom 2]

25




i COMPACT 3.0

Montaj icin
Tavsiyeler

* Montaja baglamadan 6nce talimatlari okuyun ve kurulum
islemi sliresince bunlara uyun.

* Herbir igslem igin uygun alet-edevatlari kullanin.

Elektrik

» Kontak anahtarini kapatin.

* Montaja baglamadan 6nce batarya baglantisini
kesin.

* Elektrik bilesenlerinin baglantilarinin uygun sekilde
olmasini saglayin.

/\ Dikkat

Montaj sirasinda cihaz egim alirsa ya da kabin ile
monte edilen cihaz kapandiginda, galigstirmadan
once cihazin yatay durmasi icin en az 60 dakika
beklenmelidir.

/\ Dikkat

Klima cihazini kabinin Ustiine monte ederken, kabinin Ust
tarafi bir pano ya da koruyucu bezile olasi gizilmelere karsi
korunmalidir. Compact’i kabinin Gstliine monte ederken
normalde kabin kaportasinin cihazi destekleyecek yeterl
yapisal dirence sahip oldugu dikkate alinmalidir. Ancak,
durumun bu sekilde olmamasi halinde, kabinin Ustiinde
kesim yapilmasinin gerekli olmasi durumunda ya da
malzemenin yeteri kadar saglam olmamasi durumunda
(kabin tavaninin elyaf, plastik vb. yapilmis olmasi...) olasi
deformasyonlari, kirllmalari, su girmesini 6nlemek, kabin
¢atisini guglendirmek, kurulumu yapanin sorumlulugu

altindadir.

26

dirna €3 Bergstrom

Aracg gerecgler

ilgili dokiimantasyonlar

Montaj talimatlari 1001217224
Ku"ammk”avuzu .............................................. 1 001218019 ......... ,
..... Ar|zate§h|s|1oo1218025
..... Yedekparga“steg220RE00172
..... Garant|220AA1oo17

Semboller

A Kirilabilir
Dikkat kesebilir!

A Elektrik carpma tehlikesi

A Uyarilar

A Kurulumu yapan kisi, ara¢ klimalari konusunda yeterli
bir egitimden gecmis olmalidir.

A dirna Bergstrom, s.I. bozulmalarin cihazin
uygunsuz manipulasyon ya da yanlis kurulumundan
kaynaklanmasi ya da modifikasyon ve degisikliklerin
sirketimizin yazili izni olmadan yapilmasi durumunda
ortaya c¢lkabilecek olumsuzluklardan sorumlu
tutulamaz.

ACihaza onceden sogutucu gaz yiiklenmistir.
(Sogutucu gaz devreleri maniplile edilmemelidir).

& Ariza Teshisi dahil garanti siirecine bakiniz.

AUzaktan kumandanin ve kontrol panelinin dogru
calistirimasi icin Kullanim Kilavuzuna bakiniz.

& Kurulumdan sonra kullaniciya sunlar sunulmalidir:
Kullanim Kilavuzu, Garanti ve Ariza teshisi.




COMPACT 3.0

ﬁ Kurulumu baslatmadan 6énce, 6n hava giris
1zgarasi monte edin.

1 Ruzgarligin olmasi durumunda sablon cerceve
kesilir.

375

110 840 10:
' 860 '

525

2 Kapag! ve sabitleme elemanlarini ¢ikarin ve
misteriye sunun.

dirna & Bergstrom |3




i COMPACT 3.0

dirna €3 Bergstrom

3 EPDM contasini takmadan &nce kabin
catisindaki kalintilari ¢ikartin.
4 EPDM contasini kapak agzina takin (contanin @

son sinirlarint gormek igin ilgili ayrintiya
bakiniz).

== S

KABINE SU GIRiSINi ENGELLEMEK iGiN EPDM
CONTASI NASIL KESILMELIDIR

A- Contayi yapistirin, herbir tarafta 100 mm
kagit koruyucuyu tutun.

B- Kagidin heriki parcasini ¢ikarin.

C- Heriki ucu yapistirin.

: Kabin catisi
Yakl. 100 mm (koruyucu kagit)

Conta

\ e

Conta

¥y ¥
Cikartin

Conta

/
v | &
A




COMPACT 3.0 dirna @3 Bergstrom

Compact’i kaporta bosluguna konumlandirin.

DIS KABIN: >
5 S <« 5 @

A Dikkat! Ambar aciis ekipmani
yerlestirerek, drenaj cikiglar
EPDM conta tarafindan bloke
olmadigini kontrol edin.

6 Kopuk kanallayiclyr cihazin altindaki en
yumusak yere yerlestirin.

Dikkat: Kabine bagli olarak, sunulan (2)
kanallayicilari hava dagitim paneline iyice
oturacak sekilde uygulayarak kullanmak

gerekebilir.

7 iC KABIN: @ -
Yaklagik 10 mm (4) civatayr 8/125x70, lastik % 10 mm
pul, yassi pul, somun ile yerlestirerek sikin.

Lastik —Y
pul

Yassi pul /' |
J 8 kenarli
Civata 8/125x70 @

— M8 somun

M8 somun Yassi pul Lalstik
& 8 kenarli pu

29




i COMPACT 3.0

8 Sikmaksizin montaj aparatini yerlestirerek
(2) yassi pullart kilit somunu arasina
yerlestirin.

dirna €3 Bergstrom

[

@ 8 kenarli

\ Yassi pul

X @ 8 kenarli

/ ]

Yass! pul /
AN
M

/E

Kilit somunu

X

\ Kilit somunu

9 Yaklasik 10 mm (4) civatayr M6 x 80, lastik
pul, yassi pul, somun M6 ile yerlestirerek

sikin.

Yassi pul
kenarl




COMPACT 3.0 dirna @3 Bergstrom

10 Herbir civataya sikmaksizin (1) M6 somun
yerlestirin.

11 Taban ve i¢ hava dagitim panosu arasindaki

hava sensoru (siyah kablolar), 4-yollu kutu
ifleyici (2) Haberlesme Kablolari (2) iki yonlii
kutulari antifriz sensori (beyaz kablolar)
baglamak ve iade elektronik kontrollli ve kutu
8-yonlu kablo baglantisi.

Haberlesme kablosu
Haberlesme kablosu

Ufleyici

Hava sensori donds
Don sensori

8-yonli kutusu

31




COMPACT 3.0 dirna @2 Bergstrom

1 2 Hava dagitim i¢ panelini dnceki civatalari 1
somun M6, 1 yassi pul @ 6 kenarli ile yerlestirin
ve bir altikoseli L=25 ile sabitleyin ve sikin.

Not: Altikoseli, dosemenin 1 mm listiinde
olmalidir.

Lastik pul Compact tabani

EPDM o Kopiklestk
Conta Yassi
wos T 1

h _

M6 somun

Kabin gat|S|
Déseme Kuskonmaz M6

o~ ] /
%

Tmm Hava dagitimi ic paneli

——

- J

13 Somunu nokta 10’dan hava dagitim ic
panelinin en Ust sinirina gelinceye kadar sikin.

(7 . A
@ Lastik pul Compact tabani
Conta ____Somun sikma
+ (nokta 10) T T
| M— C—
Kabin catisi Esparrago M6
Déseme Altikbse

S S =
Hava dagitimi i¢ paneli
7\
J

1 4 Konsollari yerlestirin ve cihazi merkezleyin.
Merkezledikten sonra konsolu ¢ikartin.

32




COMPACT 3.0 dirna &2 Bergstrom

15 Kilit somunlari ¢cekerek Ust somun sinirina
gelinceye  kadar  destek tespitlerini
sabitleyin.

/@5) ; ; EPDM Conta Lastik pul R
Yassi pul J 8
M8 somun ¥ = kenarl
/ A % Yassi pul @ 8
_E—-‘-/kenarll
Kabin catisi F
I [ 1 [
Yassi pul @ 8
Sikkin =/ 7 kenarli
“Kilit somunu
- J

16 Yassi konsolu vyerlestirin, devaminda diger
konsolu yerlestirin ve (4) Allen civatasi ile
M6/100x15 sabitleyin.

| —
/ Yassi konsol

Hava dagitimi i¢c paneli

y

Konsol

17 (4) Allen civatalarini M6/100x15 yuvarlak M6
plastik parcalar ile kapatin.

33




T4 COMPACT 3.0 dirna €3 Bergstrom

BESLEME KABLOLARININ DOSENMESI
HAKKINDA AYRINTILI TALIMATLAR

1 Cihazin kablosunu baglayin ve kamyonun
arkasindan sol taraftan alin.

2 Kabloyu plastik destek, bant ve flanglarla
sabitleyin. Kabloyu, batarya kablosu ile

birbirine baglayin (A).

3 Batarya kablolari ile orijinal kablolari biraraya
getirin ve mavi kablo (+) ile kahverengi kabloyu

(-) temas ettirin.

34




COMPACT 3.0 dirna @3 Bergstrom

BESLEME KABLOLARININ DOSENMESI
HAKKINDA AYRINTILI TALIMATLAR

KABININ HAREKETLERI NEDENIYLE OLUSABILECEK KIRILMALARI ONLEMEK IGIiN
KABLOLARI BAGLARKEN, UYGUN UZAKLIK PAYI BIRAKIN.

ONEMLI: Cihazin kompleks bir elektronik diizenleme sistemine sahip olmasi nedeniyle, gii¢
alimi dogrudan aracin bataryasindan yapilmalidir.

ONEMLI: isletime almak igin Kullanim Kilavuzuna bakiniz.

4 Kablolarin birlestigi yerlere ve kabin kaldirma
tertibatlarina tehlikeyi belirten ¢ikarmalar
yapistirin.

35




T4 COMPACT 3.0 dirna €3 Bergstrom

Elektrik semasi

4 ONEMLI BILGI! h

Cihaz, batarya ile baglanti halinde iken kutup uglarini degistirmemeye dikkat edin. Bunun olmasi

durumunda pano agillmaz, cihaz galismaz ve kompresor modullerinde donusu olmayan hasarlar
meydana gelir.

g J
—OmH
e () — Hava doniisi
Santrifiijli Gfleyici Ny N sensoru
N S—
Na . Antifiriz
= sensori
B B
N JT)—B%; | —
- Jl Elektronik
lletisim kablosu 5 kontrol
Az
R
N
Az [ Mavi B |
N | Siyah
R [ Kirmiz E[]] %[]]
V Ye$|| ATNINEN) R M R N
B |Beyaz
y n nN nN n
A Sarl Az|R|N| B L
Y'Y Na | Turuncu iy ] [ _._._._._-_._._.r ............. -
_ Kondansatoér
M | Kahverengi Rl N vantilatorii
R| M N
|| N M550
A
R - R R
N M ( ( A
) 4 Z ( A
M BAT+
|J BAT+ M BAT-
BAT- J: M — | Aux_
- | AUX. F—50A — FAN+
= | S =
- [l Aux+ | T+
R T+ Az - | 15V+
- || 15V+ @ @ T-
N
i —J il
C‘:I NN
C[| Batarya
Kompresor E Kompresor
2 Kompresor 1 Kompresor

36




COMPACT 3.0 dirna & Bergstrom 5

37




B comPacT 3.0 dirna €3 Bergstrom

38




COMPACT 3.0 dirna & Bergstrom 5

39




. A

Ed: | 08/02/2016
Md: | 06/08/2019

dirna &2 Bergstrom 2]

Francisco Alonso, 6
28806 Alcala de Henares, Madrid
SPAIN

Contact Phone Fax E-Mail

Sales

(Ventas Internacional) +34 91 8770510 +34 91 8771158  sales@dirna.bergstrominc.com

Comercial Nacional +34 91 8775841 +34 91 8836321 ventas@dirna.bergstrominc.com

Orders & Deliveries

(Logistica internacional) +34 91 8775846 +34 91 8771158  export@dirna.bergstrominc.com

Orders & Deliveries

o } +34 91 8775840 +34 91 8836321 comercial@dirna.bergstrominc.com
(Logistica nacional)

Technical Assistance

. +49 511 86679681 +49 511 86679710 technicalassistance@dirna.bergstrominc.com
(Internacional)

Technical Assistance

. +34 91 8775845 +34 91 883 6321  oblanco@dirna.bergstrominc.com
(Nacional)

www.dirna.com

. Dirna Bergstrom se reserva el derecho de efectuar modificaciones en cualquier momento de los datos
ATENCION: ; o . !
contenidos en esta publicacion, por razones técnicas o comerciales.
A NOTE: For technical and commercial reasons, Dirna Bergstrom reserves the right to change the data contained
. in this brochure.
. Dirna Bergstrom se réserve le droit d’effectuer a tout moment des modifications des données reprises
ATTENTION: o ] - )
sur cette publication, pour des raisons techniques ou commerciales.
) Dirna Bergstrom behélt sich vor, aus technischen oder kaufménnischen Griinden jederzeit Anderungen
HIWEIS: ) . )
der Angaben dieser Veréffentlichung vorzunehmen.
. Dirna Bergstrom si riserva il diritto di effettuare modifiche in qualsiasi momento ai dati contenuti in questa
ATTENZIONE: e - . e
pubblicazione, per motivi tecnici o commerciali.




